0001963816308999

o0 LEIZAY 0—eo>

2 | BH {ayt DHEPSBEnIHETONS, 2 S, =4day, —n%Zili7=L T3,

(2) ap+1 % ap ZJHWVTERE.
@) bp=aptceBLex, (b WEUBINIRLLDIZER cOME D £.

(4 {ant O —MIEE KD &

O Q=S+=4a-1 < 301 ~qa=42

PEE—

@) Qntt = She) ~ Sn

= 4Q0nt1~(nt1) —4Qnt N

H

4 1
FarT3

—y

?)ah-l-[ = 40?\""1 i Qn-i-l

G ba=Qn+ C & (Gn=bn-c “hp @rd BN EAALT

3(bnti —C) = 4(bn-c)+t 1
3bntt = 4bn -+ 1

Ihnt v Fre ¥ kuz 0, c=1

___.——'-—//

wn

@) @ ). =103 bari = =b

4 1
{bh} I :{Rﬂ]’_a Q|+C_: gl i‘}:{, ;@%t&%gng\)
n
bn = (5)
an""{: (%})n

"t alﬂ: (34;)"1__ 1

“




